1. EKEHKAOLBKE

{TBRX 5 ek X K & By 5K
FE = = (B)/(A)
F# A0 A0 (A) F# A0 (B)
S 28 4F BE 6,069 16,728 17,111 5,994 16,220 94.8
TR 294EE 6,057 16,485 16,271 5,995 15,971 98.2
R0 6,057 16,174 15,982 5,979 15,682 98.1
SHNREE 6,010 15,804 15,628 5,984 15,303 97.9
SH2EE 5,994 15,433 15,255 5977 14,930 97.9
FTBREBAOREREXRSRICHNEAZZELZSH-AOTHS,
2. FTAKESARKR
g | SHER $§%§E{ EEE&_MEIZH ikiﬁﬁﬁﬁ%ﬁﬁiﬁ
miR F# A0 F# N =|
284 B 445 307 276 2,734 7,025 1,659 4,589
TR 294 445 307 276 2,754 7,010 1,912 4,682
SRR 304E BE 445 276 276 2,779 6,951 1,961 4,689
ST EE 445 276 276 2,755 6,820 1,838 4,729
STH2EE 445 276 276 2,865 7,009 1,916 4,865
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(Bfi:F, A, %)

pAikR | mrmkm | FMEAR
(¥2) (m®) (m°)
326 5,283 1,573,440
311 4,971 1,563,058
321 5,042 1,575,832
340 5,204 1,543,553
340 5,070 1,532,380

'8 ETKERLKEHE

(Bifi:ha, B, A, %, . m%)

TRERREE KL= nEE
LH4EE | FEBT | FH Ao |(1B&RY)
62.0 89.9 60.7 65.3 1,631
62.0 89.9 69.4 66.8 1,451
62.0 100.0 70.6 67.5 1,713
62.0 100.0 66.7 69.3 1,486
62.0 100.0 66.9 69.4 1,520
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